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Praktis Formatif
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(w=-3)Bw+2) =3w*+2w—-9w -6
=3w -7w-6

Jawapan/Answer: A

(a) 2(3x+4) =2x3x+2x4

=6x+8
(b) 42x-5) =4x2x-4x%x5
=8x-20
(@) (1) «° (ii) x
(iii) 2x (iv) 2
b) (x+2)(x+1) =x*>+x+2x+2
=x*+3x+2
(a) X (b) v
(c) X (d) v
@ | Cx+7)2x+3) 6x°-29x+ 9
) | (4x + 1)(x-8) 6x°+ 7x - 10

© | Bx-1)(2x-9) 4x°+20x + 21

4x*-31x -8

(d) | (6x-5)(x+2)

(8p)* - (3r)* - 9rx p + 91>
=64p* - 9r*— 9pr +9r?
= 64p* - 9pr
(2f + 3h)* - 2(3f - 2h)*
=4f% + 12fh + 90 — 2(9f* — 12fh + 4h?)
=4f* + 12fh + 9h* — 18f7 + 24fh — 81’
= —14f? + 36fh + I?
Jawapan/Answer: A
Luas kawasan berlorek
Area of the shaded region
=(4x+5)3x+8)—2(x+3)
=12x* +32x + 15x + 40 - 2x - 6
= (1247 + 45x + 34) cm?
5, %, ¥, 2, ... ialah suatu jujukan nombor Fibonacci.
5,% ¥, 2, ... is a sequence of Fibonacci numbers.
(@) y=5+x
(b) z=x+y

=x+(5+x)

=5+2x
() Z2-y=05+2x>-(5+x)

=25+20x+4x*-5-x
=4x* + 19x + 20

4-m*=2-m)2+m)
Jawapan/Answer: B
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Ungkapan algebra Pemfaktoran
Algebraic expression Factorisation
(a) 6k+3 3(2k+1)
(b) y*-9 (y+3)(y-3)
(c) a*-4ac+4c (a-2c)?
(d) 3x*-14x+38 (Bx-2)(x-4)

12 5p*-20qr° =5(pr* - 4qr°)

= 5r°(p - 4qr)
13 (a) 64p*+16=16(4p* + 1)
(b) 64p* - 16 = 16(4p* - 1)
=16(2p+1)(2p-1)
16 (a)
x>< +| 6 +| 6
X +| 1 +| 1
x +| 6 +| 7
x2+7x+6:<x+ 6 )(x+ 1 )
(b)
X +| 4 +| 12
3x? -l 8 +| 10
3x2+10x—8:<3x— 2 )<x+ 4 )
15 (a) Jumlah harga bagi sebatang pen, sebuah beg dan

sehelai baju
Total price for a pen, a bag and a shirt
=(4x -3) + Bx + 2)* + 2(4x - 3)
=4x-3+9x+12x+4+8x-6
= RM(9x% + 24x - 5)
(b) 5(4x - 3) =270
20x — 15 =270
20x = 285
x=14.25
Apabila/ When x =14.25,
Jumlah harga bagi tiga barang
Total price for the three goods
= RM[9(14.25) + 24(14.25) — 5]
=RM(1 827.56 + 342 — 5)
=RM2 164.56
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16 (a) ¥ 4 () m+3 _m-1_3(m+3)-(m-1)
2n 6n 6n
_3m+9-m+1
X X x|4x - 6n
_2m+10
6n
x 4 _2(m+5)
3L 3x ] 3 6n
_m+s5
(b) X 4 3n
Benar/True
x 20 1L _73& -1 3-8
p+3 P +2p-3 p+3 (p+3)p-1)
3 _(p-D-Cp-8)
(p+3)p-1)
K+ 7x+12=(x+4)(x+3) _p-1-3p+8
17 (a) 3x 2 C(p+3)p-1)
pY 3x2 2x :#L
) c ; (p+3)p-1)
X
21 (a) a9 1,3
(b) 3x* +8x+4=(Bx+2)(x+2) 6c ab b
4hk k+1 _  4hk k+1 -3
x = x 2b
3k+3 4hk+8h 3(k+1) 4h(k+2) ,
_k, 1 by 3y km _ 3 hm
=3%%2 ® 5% T Tk
-k = 3hmo
3(k+2) 2k
Jawapan/Answer: C ( L-42_Pyp
2. 4y _6y 8 p 8 4
19 + = 2
@55 =3 =L 1x
=2 10v 15  10v _ u
3 (@) Lor . B Ly b
Benar/True u u u v
2 1
(b)7_”+i=7”+3” Tul 3w
12v 4v 12v 2 v
_ 10u T 3uy V]
R 12V 21,3 hZ 21,3 2
54 2 12a°b . 2ab” _ 12a b % 21c
= v 7¢ 21 7¢ T 2ab’
Palsu/False = 6ab X %
c
©) L_5—14r=r—(5—14r) 218ab
5p 5p 5p c
—r-5+l4r @ v (b) X
5p B B 2 2
155 53 18 50t2+221+401; _18-502  p’t+2p
v 3pt+6p pt+2p 3pt+6p 24 +40¢t
P _2(9-258)  pit+2)
=5Gr-1) 3p(t+2)  8(3 +5t)
>p _B+sG-5)  p
_3r-1 3 4(3 + 50)
Palsu/False = % X %
_p@B -5t
12
Jawapan/Answer: A
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6  4r S 6 2 s
24 (a) —+—X—5 =—+—XxX—
()rs 3727 s 3 r
-6 32

rs  3r

2

=18 25

3rs  3rs

_18+2¢

3rs

23x+1)
_(B3x+1)-9x
T o6(Bx+1)

_ 1-6x

T 6(3x+1)

Praktis Sumatif g

1 3(7mn + 3k) + 2(5k — 2mn) =21mn + 9k + 10k — 4mn
=17mn + 19k
Jawapan/Answer: B
2 (2x-1)—4(x+8) =4x* —4x+ 1 —4x—-32
= 4x* - 8x - 31
Jawapan/Answer: D

_k(6-k)
T34k
Jawapan/Answer: B
6 (6k+1)(3k—4)-4(3-k)?
=18k? — 24k + 3k — 4 — 4(9 - 6k + k)
=18k* — 21k — 4 — 36 + 24k — 4k*
=14k* + 3k - 40

(5x—6)m

(x+3)m

4(2x-3)m

Luas tanah
Area of the land

- %[(x +3) + (5x - 6)] X 4(2x - 3)

=2(6x-3)(2x-3)
=2(12x* - 18x — 6x + 9)
=2(12x% - 24x + 9)
= (24x% — 48x + 18) m?

8 (a) 107 + 15r=5r(2r + 3)

(b)
3 3y _y-2 _24y-(y-2) 2n +1 +n
w 8w 8w ><
_24y-y+2 n -7 | -l4n
8w 2n -7 ‘ -13n
_23y+2
T 8w 22— 13n-7=02n+1)(n-7)
Jawapan/Answer: B
4 loxy +4y _ 7y « 4y(4x +1)
16x* - 1 35x (4x +1)(4x - 1) 35x
=) x A
4x-1 5x
Yy
5x(4x - 1)
Jawapan/Answer: D
9 @) (iii) ) (vii)
5(k - 2) (x+3)(x-3) (m + 4)* (a-2b)Bc+d)
=| 5k-10 /\ =l -9 /\ =|m?+8m+ 16 /\: 3ac + ad - 6bc - 2bd
as as as
(i) (iv) (vi) (viii)
5k - 10 -9 m*+ 8m + 16 3ac + ad - 6bc - 2bd
= 5(k-2) = (x+3)(x-3) = (m+4)? =|(a-2b)(3c+4d)
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10 (a) 3r(2p -5) - p(2p - 5) = (2p - 5)(3r - p) 33 -y-2 5
(b) 4xz + 8wx — 3yz — 6wy = (4xz + 8wx) — (3yz + 6wy) 4 6y +4 y-1?

=4x(z + 2w) - 3y(z + 2w) _3 Gy+2)p-1) w5
= (z+2w)(4x - 3y) 4 23y +2) (y-1)?

1 1+ 1-3p _3 1. 5

3(1+3p)  6(1-4p) 4 27 y-1

_2(1+4p)(1-4p) + (1 -3p)(1 + 3p) _3__ 5

- 6(1 + 3p)(1 - 4p) 4 20y-1)

_2(1-16p") +1-9p? _3(-1)-10y

T 6(1+3p)(1 - 4p) 4(y-1)

_2-32p*+1-9p° _3y-3-10y

©6(1+3p)(1 -4p) 4y-1)

_ 3-41p’ _-7y-3

6(1 + 3p)(1 - 4p) 4y -1)
7y +3

12 m+1+(m2—m—2)+% Z(ﬁ

_mal, 1 L2

2 m—-m-2 m
_m+l 1 +i
2 (m-2)(m+1) m
S S
2(m-2) m

_m+4(m-2)

T 2m(m-2)

_ m+4m -8

T 2m(m-2)

_ 5m-8

" 2m(m - 2)
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